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QUESTION 1

Which statement is true regarding uncertainty data for calibrations performed in Maximo for Life Sciences? 

A. Maximo for Life Sciences performs the uncertainty calculations and records the information in the job plan. 

B. Maximo for Life Sciences performs the uncertainty calculations, however the data is non-persistent and not recorded
in Maximo. 

C. Maximo for Life Sciences does not provide for the recording of uncertainty data. 

D. Third party software is typically used for performing the uncertainty calculations, which are uploaded into Maximo for
Life Sciences via batch process or integration. 

Correct Answer: B 

 

QUESTION 2

To minimize the performance impact of very large, complex BIRT reports, which feature can be set in the Report
Administration application? 

A. display order 

B. view report dependencies 

C. reserved processing time 

D. number of requests page columns 

Correct Answer: C 

 

QUESTION 3

Which two actions can the reliability engineer perform from the Asset Performance Management (APM) Ul, when a
trained model instance is available for an asset group? 

A. apply the trained model to another group of assets 

B. schedule how frequently the model should be run 

C. modify the asset attributes that the model is trained on 

D. select another algorithm to use in the predictive model 

E. enable/disable the model instance 

Correct Answer: AD 

 

QUESTION 4
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In Maximo Enterprise Asset Management (EAM), what is the default status of a non- rotating item which has been
received? 

A. complete 

B. waiting for approval 

C. waiting for asset serialization 

D. waiting for inspection 

Correct Answer: C 

 

QUESTION 5

Which Maximo application is a repository for acquired individual certifications? 

A. Labor 

B. Crafts 

C. Qualifications 

D. People 

Correct Answer: D 
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